VSDP Semi-Monthly Salary is $1500; 10 day pay period: 10 days at 80% Income
Example B Replacement, employee chose not to supplement with leave.

Option 2 1. Calculate the VSDP Benefits due the employee (no change in method).

a. $1500 multiplied by 80% = $1200

Cred Comp - $1500 b. Use Special Pay 061 (VSDP BEN) to pay the employee $1200 on HUCOL1.
M 2. There is no Regular Pay due the employee because they did not supplement
with leave.
VSDP SP 061
$1200 3. Compute the amount of individual Retirement (012 or 127, 116, 117), Retiree

Credit (105, 115) and applicable Buyback (017, 043) deductions. Key an 8XX
transaction override for each deduction on HUDO1. (If the HOBID salary has
not been reduced, the Group Life and LTD calculations will calculate correctly
without an override.)

4. In this case, the full amount of Creditable Compensation is not accounted for
(the puzzle pictured to the left is not complete) and items handled this way will
show on Report 869. (To avoid this, use the method described in Example B-
Option 1.)



